10’-0" OR 15'-0", DAVIT ARM’

r4 1/2" 0.D.

45 FT. MOUNTING HEIGHT

7,

=

3 1/2" 0.D.

TS‘ MAX. TILT (ARM)

2 3/8” 0.D. TENON

3'-9" RADIUS (TYP.)

4 1/2",
0.D.

0.188" WALL THICKNESS

0.219" WALL THICKNESS'

10" x 6" x 36'—1",

17

ALL STAINLESS STEEL.

VIBRATION
DAMPER

(FUTURE BRACKETS,
NOT TO BE INSTALLED
AT THIS TIME)

{
I
[
I
I
|
|
|
|
I
|
36" x 72" BANNER |
|
I
1
|
|
i
i
|
i
i
i

FUTURE SIGNS
TO BE BANDED

TO POLE—\ }
P YT R |
Ni 2 EA448" x 9

/POLE/CIRCUIT IDENTIFICATION

T I T LN

FLUSH HANDHOLE
4” x 8", WITH GROUND

AND CONSTRUCTION

18"

ANCHOR BASE
ALLOY 356-T6

k-3

—
LITHONIA DAVIT ARM_POLE

TRANSFORMER BASE

6063~T6 ALUMINUM ALLOY ARM
/TAPERED FROM 6" TO 3 1/2"

NOTE: NO THREADS ON INSIDE OF POLE.

6063—T6 ALUMINUM ALLOY SHAFT
/TAPERED FROM 10” TO 6”

LUG
SEE DETAIL FOR HANDHOLE POSITION

L SHAFT JOINT
(2) 5/8” x 7" LG HEX. BOLTS, C/W NUTS,
FLAT WASHERS AND LOCK WASHERS

1° WHEN LOADED

LITHONIA LIGHTING

AERIS AS2 SERIES,

400 WATT HPS 240V
AND 250 WATT HPS 240V

28"

LITHONIA LUMINAIRE

(TYP.)
13/8" x 2

BOLT SLOT—\ i

HOLE FOR I

10" & LIGHT POLE— g
7

N

©
~

o

ALLOY 356-T6 o

12 15/16" SQUARE’

LITHONIA DAVIT ARM POLE BASE PLATE DETAIL

(FOR REFERENCE ONLY)

NOTES:

1. MOUNTING HEIGHT IS DEFINED AS THE DISTANCE FROM THE
CENTERLINE OF THE TENON TO THE BOTTOM OF THE
ANCHOR BASE.

2. BOLT SLOTS WILL BE 1 3/8" x 2" CENTERED.

3. TWO PIECE SHAFT WILL BE MATCH MARKED AND
INTERCHANGEABLE BETWEEN DIFFERENT UNITS. STUD BOLT
WILL BE 5/8” DIA. WITH NUT, FLAT WASHER, AND LOCK
WASHER. THERE WILL BE NO THREADS ON THE BOLT
INSIDE THE POLE SHAFT.

4. THE LIGHT POLE SHALL MEET AAS.H.T.O. DESIGN
CRITERIA.

el

4 1/2" DIA——w

TAPERED ALUMINUM TUBE
(0.188") WALL

ALLOY 6063-T6 DARK
BRONZE, COLOR FINISH

FT. LIGHT STANDARD

LUMINAIRE:

KIM LIGHTING — AR3 MODEL

250 WATT, H.P.S., M—C—Ill, 240V,
30 FT. M.H., 8 IN. SUPPORT ARM,
DARK BRONZE—POWDER COAT FINISH

POLE:

ROUND TAPERED ALUMINUM,
KIM—LIGHTING-LTRA30—8188

DARK BRONZE-POWDER COAT FINISH,
11-1/2" BOLT CIRCLE,

OR APPROVED EQUAL

8" OUTSIDE
BOTTOM DIAMETER

BASE FLANGE ALLOY 356-T6
WITH BOLT COVERS FASTENED
WITH 1/4” 20 THREADED STEEL
REINFORCED PLASTIC FASTENERS

EXIST. GROUND

MOUNTING HEIGHT’

LETTERS AND NUMERALS
/7' ABOVE GROUND LINE

HANDHOLE FRAME TAPERED
3/8"-16 N.C. FOR
GROUND LUG

/— HANDHOLE

o

KIM LIGHTING UNIT DETAIL

(FOR REFERENCE ONLY)

11%" BOLT CIRCLE FOR
30" LIGHTING STANDARD

KIM_LIGHTING UNIT

ANCHOR BASE DETAIL

(FOR REFERENCE ONLY)

FILE NAME =
.\sheet\2363_Light_detml 2.dgn

USER NAME = Jat DESIGNED - SJC REVISED -

DRAWN - SJC REVISED -
PLOT SCALE = 10088 '/ IN. CHECKED - DNM REVISED -
PLOT DATE = 10/21/2019 DATE - - 10-22-10 REVISED -

STATE OF ILLINOIS
DEPARTMENT OF TRANSPORTATION

IL ROUTE 83 (BUSSE ROAD) @ PRATT BOULEVARD i SECTION

LIGHTING DETAILS

TOTAL | SHEET
COUNTY  |SHEETS| ~NO.
344 09-00057-00-CH COOK 103 | 69

[ SHEET NO. 2 OF 2 SHEETS |

CONTRACT NO. 63523

FED. ROAD DIST. NO. 1 JILLINOIS[FED. AID PROJECT

M-3003(660)




